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Domino pyramids

Written by Liz Gibbs

[ The Busy Lizzie Maths Library ]

Domino pyramid 1

Here is a pyramid of dominoes. The sum of the two lower
dominoes has the same sum as the domino above. Can you put

the dominoes in the correct rows to solve this addition pyramid?

The
sum of
this
domino
is 5.
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Domino pyramid 1

Here is a set of dominoes for you to use.
Can you put the dominoes in the correct rows to
solve this addition pyramid?

© www.thebusylizzie.co.uk 2020

. . [
Domino pyramid 1: |¢®
Here is the solution °
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Domino pyramid 2

Here is a set of dominoes for you to use.
Can you put the dominoes in the correct rows to
solve this addition pyramid?

© www.thebusylizzie.co.uk 2020

. . o 0
Domino pyramid 2: | ¢®
. . o0
Here is the solution PP
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